Al A

=0 O
2023 20l LBHSIH A=A Dt
S AEEAQDL
M sS4 84
¢ dHs 2 € X (e
S - B S2(B) - NISAY - BAS S SR HIDS2
AR AR 13,190,904 10,779,602 2,411,302
= 148,946
J| 1,012,991
& 1,371,940
o 10,657,027
Msad 54 12,557,554 10,139,745 2,417,809
= 44,400
| 1,012,991
& 1,341,289
o 10, 158,874
s &g & XA 3,918,233 2,690,715 1,227,518
LEM=UIRXIXIE 174,200 161,792 12,408
202 O4H| 1,800 1,800 0
01 =W 1,800 1,800 0
20/ & 1,800 1,800 0
OAEZ=[3l HXI0RY & MXEd KX
SN 60,0003 x2H 15! 1,800
203 ZR=&H| 20,000 20,000
03 AMEFXHRFXIY| 20,000 20,000
20l A 20,000 20,000
OM=sl3s H2F& S 20,000
301 Let8EZ 4,000 4,000
11 HALAHIX RS2 4,000 4,000
20l & 4,000 4,000
OMSEH 312 & A T B4
8,000& x50H *103] 4,000
307 2IZt0|A 148,400 139,992 8,408
03 RIZIHHEER2IHIZ X 148,400 139,992 8,408
204 & 148,400 139,992 8,408
ogaz M=z 294| & 85,500
—AIR=2ZE 23|
2,200,0002x 18+ 122 26,400
— AtSR2teld| 1,400,000& = 12& 16,800
—8X o1 2,275,000& *1H+12& 27,300
-1 /RS0 & B8s 12,000
—2=E3 7Yl 3,000
ogaz HfeM=s 294 XA 62,900
—AIR2=E EEH|
1,700,000& *1Ex12& 20,400
—AtSR2teld| 600,000& *12& 7,200
—8X o1f 2,275,000 1H+ 128 27,300
— X *AHl € B8s 6,000
—2=E3 7Yl 2,000
e 24 192,839 131,852 60,987




=N

o 54
ciel: 23 1@ (el me
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
BIEXNZ2 192,839 131,852 60,987
2 =R - 2sREsSEAZ 192,839 131,852 60,987
A 192,839 131,852 60,987
O HE 28 g4 192,839
—J|22(7134%, 352)
2,110,700 x78x12& 177,299
201" &a & 65,000& x7H x12& 5,460
—=dd 120,0002x7H % 12& 10,080
= M=U3 =2 Xd 10,000 10,000 0
20| & 10,000 10,000 0
OIZHSHAAIRE E X 10,000 10,000 0
A 10,000 10,000 0
&d=2 H=03 & AEHAE I A
¢t X 10,000
=03 X3 10,000 8,000 2,000
20| & 10,000 8,000 2,000
DIZFSHAAFE B 10,000 8,000 2,000
A 10,000 8,000 2,000
OHMI183l =X MEXMFUHS &It 10,000
T &9 =0z X3 22,000 20,000 2,000
20| & 22,000 20,000 2,000
OIZHSHAAIRE E = 22,000 20,000 2,000
A 22,000 20,000 2,000
M= L T & =03 &It 22,000
SH=U=ES XS 123,000 0 123,000
o120l & 123,000 0 123,000
OIZHSHAAIRE E = 123,000 0 123,000
Of AF 123,000 0 123,000
O202348 HMetde MEd=UsAE &It
A& 120,000
O20233 Metde KElo] MEdstsd
20 K& 3,000
H=Ug &I X 160,000 140,000 20,000
20| & 160,000 140,000 20,000
OIZHSHAAIRE B = 160,000 140,000 20,000
A 160,000 140,000 20,000
OHMIe28| Mete = M=0HE &I 160,000
2Rl M=0Hal &OF X 105,000 35,000 70,000
20| & 105,000 35,000 70,000
OIZHSHAAIRE E = 105,000 35,000 70,000
A 105,000 35,000 70,000
OHNI31E MeteE= ZOoHe! M=sHal &t 90,000
ORNI23] Mete S XIMZE e M<H3l
0 15,000
SHEXHCIMEH=US &I K& 30,000 0 30,000




S AREAD

M MY =24

&2l Hs dE Y XE (chel &2
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% MinEs)

307 21z2to|™ 30,000 30,000
04 CIZISHALAIE 2R 30,000 30,000
S0 A 30,000 30,000

02023 Mt & Hojel M=z &
o X 30,000
dY sO0eId=UE XA 15,000 15,000 0

07 212H0| & 15,000 15,000 0
04 CIZISHAIAIH B2 X 15,000 15,000 0
S0l A 15,000 15,000 0

OHMIZ33 MY =012 M=0a &I K& 15,000
HEHE S=S24 A3 200,000 165,000 35,000

307 212to|™ 200,000 165,000 35,000
02 DIZHEAAIHE X 200,000 165,000 35,000
S0 A 200,000 165,000 35,000

OFYHMAE S=2=24 XA 200,000
M2HN KOHZ A K& 5,000 4,000 1,000

307 2I2to|™ 5,000 4,000 1,000
04 CIZISHALAIE 2R 5,000 4,000 1,000
S0 A 5,000 4,000 1,000

ON=2MAE XOHZEHA S X3 5,000
22ATXZYE XA 478,000 478,000 0
307 QI2H0| & 478,000 478,000 0
02 QI2IAAAIYE XS 478,000 478,000 0
=0 A 478,000 478,000 0
OY&EFC X3 300,000
—YG2ZFC U-12 X 100,000
— G 2FC U-15 X1 100,000
—H2ZFC U-18 X 100,000
OgRAI=x=Y 29 X 178,000

M= U2 U3 170,000 0 170,000

307 2Iz2to|™ 170,000 0 170,000
04 CIZISHALAIE 2R 170,000 0 170,000
S0 A 170,000 0 170,000

olsgul d=ti=2t3al 170,000
M= BT H3) 175,000 200,000 A25,000

307 QI2H0| & 175,000 200,000 A25,000
04 CIZISHALAIE 2 R 175,000 200,000 A25,000
=0 A 175,000 200,000 A25,000

OF=ZUE AT A=A HS 175,000
&M= £=AAI| HT 40,000 40,000 0

307 2120l ™ 40,000 40,000 0
04 CIZISHALAIHE E X 40,000 40,000 0
=0 A 40,000 40,000 0
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150,000
150,000
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307 gI2tol ™
307 212t01H

307 212t01 A

307 212t01A
307 21201

£AM
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20
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S AREAD
M MY =24
ool Hg A2 U A9 (ol Hm
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
OAZXUZF & dX2zd =8 34
8,000& *6H 60! 2,830
OAU= AZXUal AlE Xt 10,000
202 dH| 3,600 4,800 A 1,200
01 =Wyl 3,600 4,800 A 1,200
=01l A 3,600 4,800 A 1,200
O&d=2 2 T =2 dM=stial & A&
60,000 *x33|* 10 1,800
OFYHAE, BEYEMIMNE S &I K&
60,0002 *x33|* 10 1,800
= &2 M=Ug Xd 20,000 20,000 0
307 QI2H0| & 20,000 20,000 0
04 CIZ2ISHAIAI X 20,000 20,000 0
S0 A 20,000 20,000 0
Oz &2 =03l M=l 20,000
T 949 H=03 x X 350,000 80,000 270,000
307 2120l 350,000 80,000 270,000
04 CIZISHALAIHE E R 350,000 80,000 270,000
=01l A 350,000 80,000 270,000
OUsSdEu & A NEUS 70,000
O &2 MEUal HEI(2200 Al=20Hget
=350I0H3l) 80,000
O2024 HEME ZTHCHE JHE (2200 &
HE ==2) 200,000
Hd=A2H=EUE ¥ dHMAZ=S K& 40,000 0 40,000
307 212t0| & 40,000 0 40,000
04 CIZISHAIAIH E X 40,000 0 40,000
=0l & 40,000 0 40,000
OM1Mal M2HIE (FZ0HE!) 10,000
OMI1043 M2 HE (S=AAITHE]) 10,000
OHMI433] M2EOCIMAE (S1UE]) 10,000
OMI433] M=2Z0HCIMAE (RECHE]) 10,000
FAZAH=0lo & XA 15,000 0 15,000
307 2I2to|™ 15,000 0 15,000
04 CIZISHALAIE 2 R 15,000 0 15,000
=0 A 15,000 0 15,000
O MEelo & AL K& 15,000
AL =G E 29 50,774 44,941 5,833
101 @124H| 50,774 44,941 5,833
M4 J12ZtH 22 HsE S 50,774 44,941 5,833
=01 A 50,774 44,941 5,833
Oalll=g& A 50,774
—Jl2s(Z8Y) 76,9602 x2H x2002 *6/8 23,088
—J|232((FY) 76,9602 x2H «53 8,158
=52z 76,960 22X x53F=+6/8 6,119
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SN AL AH N
M MsMY s4
ol MEs #20 =2 (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
QUBIMEHI S XIS A HIXI(B=XIE) 148,985 148,985 0
J| 74,492
o 74,493
307 QIZt0| A 148,985 148,985 0
J| 74,492
o 74,493
02 IZIBAAIEE R 148,985 148,985 0
J| 74,492
= 74,493
204 & 148,985 148,985 0
J| 74,492
= 74,493
OBt MEtYS X =X BIXI(5H) 148,985
J| 74,492
o 74,493
o8t MEF XIS A BHXI(REXAI) 24,400 20,000 4,400
307 2IZ2t0|A 24,400 20,000 4,400
02 RIZHBAAIEE R 24,400 20,000 4,400
=0 A 24,400 20,000 4,400
Oggt MetyX A &I
200,000& x5 = 12& 12,000
Ot MeEtEX At BE S|
400,000& x5 *23| 4,000
Oger MetX X=X 24|
140,000 *5H = 12& 8,400
24 MEHSI X IX(2SKIE) 178,782 178,782 0
J| 89,391
= 89,391
307 QIZ2t0|™ 178,782 178,782 0
J| 89,391
= 89,391
02 DIZIBAAIEER 178,782 178,782 0
J| 89,391
= 89,391
=0 A 178,782 178,782 0
| 89,391
= 89,391
ON24 MEMSXIZXH BIXIAIE (6Y) 178,782
J| 89,391
o 89,391
24l MEHSK K BHX(XHA) 29,280 24,000 5,280
307 QIZ2t0IA 29,280 24,000 5,280
02 RIZHABAAIEE R 29,280 24,000 5,280
S0j &t 29,280 24,000 5,280




SA: AZEAAD
N YSA

Ciol: METS &0 20 (cr9l: &g
S - B S(B) - NIRAR - BHAS (ggj) @%%’Lﬁ‘” D=2
O Eal MEXSX A SEHI
200,000& x6H*12& 14,400
O0lZ24l MEHHISX S HE SO
400,0003 62 +23| 4,800
Oozal MeEdS X=X SA|
140,0002 x6H = 12& 10,080
ZHOHO!l MEHHIES X SAF BIXI(2SXIY) 91,584 59,283 32,301
J| 45,792
= 45,792
307 212t0| ™ 91,584 59,283 32,301
J| 45,792
= 45,792
02 DIZHEAMAIHE X 91,584 59,283 32,301
J| 45,792
= 45,792
=0 A 91,584 59,283 32,301
J| 45,792
= 45,792
OZHe! MEHES KIS X BHXI(3H) 91,584
J| 45,792
= 45,792
ATXAL0I2H XS 131,100 72,250 58,850
J| 91,770
& 11,799
= 27,531
301 LEIEN= 131,100 72,250 58,850
J| 91,770
& 11,799
= 27,531
01 Al BB (2DEXMH) 131,100 72,250 58,850
J| 91,770
& 11,799
= 27,531
S0 A 131,100 72,250 58,850
J| 91,770
< 11,799
= 27,531
OAZ=2Z 0|12 K&
95,000& *12&*115H 131,100
J| 91,770
& 11,799
= 27,531
ZHOHOl MEHHISKISAF BRI (KEA) 14,640 8,000 6,640
307 2120l 14,640 8,000 6,640
02 QI2ZIAAAIDE T 14,640 8,000 6,640




AT AX=AHD

HH: HRMY KA
Ciol: METS &0 20 (cr9l: &g
S - B S(B) - NIRAR - BHAS (ggj) @%%’Lﬁ‘” D=2
S0l A 14,640 8,000 6,640
OZoHe! MEHFK =X SEH|
200,000 *x3H x 12& 7,200
OZoHe! MEHFX X HE S|
00,0003 *3EH 23| 2,400
OZoHe! MEHFK =X SAMH|
140,0002*x3H x 12& 5,040
ool AEUEROIZH KA 30,780 5,950 24,830
J| 21,546
o= 2,770
= 6,464
301 LBtE M= 30,780 5,950 24,830
J| 21,546
& 2,770
= 6,464
01 MISIEEE LG Z2(2DEXTL) 30,780 5,950 24,830
J| 21,546
& 2,770
= 6,464
=0 A 30,780 5,950 24,830
J| 21,546
& 2,770
= 6,464
OOl AZ=2Z 0|2H XA
95,0002 x27% x 12& 30,780
J| 21,546
& 2,770
= 6,464
MEHS X S X MM 16,800 15,600 1,200
o= 6,720
= 10,080
307 21Zto| ™ 16,800 15,600 1,200
& 6,720
= 10,080
02 QI2IEAAAIE X 16,800 15,600 1,200
== 6,720
= 10,080
S0 A 16,800 15,600 1,200
& 6,720
= 10,080
Ogtt MEF X=X E=X2H]
100,0002x5H x 12& 6,000
o= 2,400
= 3,600
Ooz24l MEXFK A ESX2H]
100,000 x6H » 122 7,200




S AEEAQDL
M MY =24
Chol: MEBTIS EHO S LR
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
= 2,880
= 4,320
OOl M KNE=A ESAIRH]
100,000& x3H = 12& 3,600
& 1,440
= 2,160
HSAIE &= 3,830,873 5,544,000 A1,663,127
= 35,000
= 3,845,873
022 MsSAIE X3 160,000 160,000 0
401 Al&EHIL 200 160,000 160,000 0
01 Al&HI 160,000 160,000 0
=0 A 160,000 160,000 0
Ol dHsSAlE SAES
1,000, 000& #4004 &~ 40,000
OS2 HSAE(02s017) 4R
8,000,000& * 1500 &~ 120,000
HOIEZE 22l 70,000 70,000 0
401 Al&2H1L 201 70,000 70,000 0
01 Al&HI 70,000 70,000 0
=01 A 70,000 70,000 0
ONOIEER SXE(SY HOIEESZ) 70,000
ALXME 248 3,580,873 3,334,000 246,873
401 Al&EHIL 20| 3,580,873 3,334,000 246,873
01 Al&HI 3,410,873 2,929,000 481,873
=0 A 3,410,873 2,929,000 481,873
OAZXHME HE 2,057,000
ALRAEH HE(FIHR) 1,353,873
02 22| 170,000 400,000 230,000
S0 A 170,000 400,000 /230,000
OAZXHME HE 170,000
et Al AIRA X2 70,000 0 70,000
= 35,000
= 35,000
401 Al&HILL0HY| 70,000 0 70,000
= 35,000
= 35,000
01 A&t 70,000 0 70,000
= 35,000
= 35,000
S0 A 70,000 0 70,000
= 35,000
= 35,000
OJtatslal A=Al XA (WR AEZX AX]) 70,000
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AL AA
RS 5y
SEH=AlE 2] e RS
: 5 oy 311 2 0 44 .
SA - BB S9I(EN) - MRAL - BYS S N s2
—JIAH4 2elSS(Hod 2 8E §)
500,000 *42 2,000
OdAI=E S| 8,000 x5 »36 1,400
OFEEg2sE MHXO 22l olddole
Sl gxtg 3,000
OYBALEIZ MNEE B4 EY 20,000
OAREIE sAS2 2l 89
5,000,000 42| 20,000
OZ3MEAIE D2LHI HFAS 7,000
02 2324l 409,203 204,664 114,539
=0l &t 409,203 294,664 114,539
O322= £ HA 317,084
—MIIRS(AZEIS MSAIA
22,000,000& 123 264,000
—HRS(FFRECFE 30n)
250,000& *3 A% 123 9,000
—aoteERs 3,500,000 122 42,000
—QHu RS 35,0002 ~40H A+ 123 1,680
—=UgSE ANE= 32,0003~ 128 384
—JtA HHe MY BEE(AZEIS) 20
Og =l 20,119
—AUHSs2 S AZHI(ZAIDIA)
8503 »133m* x20 L +8E 18,088
—SHEX HAZHI(NEEH], 22 )
1,354 %30 £ *5CH* 10 2,031
OA&ZelE Rt 2eldl(82 10H) 2,000
OAlZ &t {2 70,000
—3Hl & NE22(ALEIT, BE2S
&, FSRN07E) 70,000
202 04l 360 360
01 =LHOIHI 360 360
S0l 360 360
OMSAIE 22| & g3 (ed2e]) us
60,0003 x3Z+23| 360
206 =4l 9,000 10,100 /1,100
01 =4l 9,000 10,100 21,100
=0l & 9,000 10,100 /1,100
OALEIS X+ 22l ME Y 9,000
—XEF 2l s R AN 7Y 6,000
—xd HlE P 3,000
401 AIEHIZL O] 140,000 259,000 A 119,000
01 Al&H| 140,000 259,000 A119,000
=0l At 140,000 259,000 A 119,000
O=2MSsHH d2+)| M2t £ Jdl 10,000
O=2UMSHE F=H 28 & 229
| = 20,000
OALEIS RUAIE EHI 10,000
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